Estimate mentally to find the approximate answers.
Don't need to do Q1-4

raction within
three places (1)
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Do the subtractions.
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7. 688-222=- 466
9. 637-109= 528

Circle the answers.
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10. 712-350=_ 362

11. Which of the following expressions gives a result different from

*12. Joe draws two number cards. If the difference between the two numbers
he gets is 125, he will get a prize. Which two numbers below should Joe
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drOW tO get the pnze? We can add 125 to each number to find the correct answers.
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Solve the following problems. (Show your working)

13. Jenny had 360 dollars. She used 230 dollars to buy
books. How much money does Jenny have now?

(360 - 230 b

=130
Jenny has 130 dollars now.
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T4. Dad is 175 cm tall. Sammy is 108 cm tall. How
much shorter is Sammy than Dad in cm?

175108 )
=67
Sammy is 67 cm shorter than Dad.
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15. Karen and Terry playedvideo games. Karen got
838 points. Terry got 145 points fewer than Karen.
How many points did Terry get?

838 — 145 =

=693
Terry got 693 points.
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*16. David had 480 stamps. He gave 254 stamps to
John. Now John has 527 stamps. How many
stamps did John have originally?

(527 -254 b

=273
John had 273 stamps originally.
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